Bri dgecl ub de Kol | ebl oem Puurs *** O ubtornooi *** 4 giften per ronde *** 23/11/2011 Nz owv  |gift 1 N2 oW gift 2 N2 OW gift 3 N2 OW gift 4 N2 OV
1 Jaak Fremaul t-De Koker Jozef 31 Steenackers Walter-Van Roy Flor 1 31 11 9 -460 O3N+2 119 -100 N2S-1 | 16 4 100 VBN 1 1 19 -600 BN=
2 Casteel s Francoi s- Meyvaert Serge 32 Siebens Jeanne- Kerrenmans Mari eke 2 41 11 9 -460 WBN= 16 4 110 N2S= 14 6 -50 Z22S-1 | 20 0 140 Z2H+1
3 Digneffe Jozef-De Smet Jacqueline 33 H MPE Bl EKE- GELTMEYER M CHEL 3 35 11 9 -460 VBN+2 9 11 50 WLN- 1 2 18 -600 OBN= 14 6 -90 OLN=
4 \Weymans Lutgard- W j nants Ceorgette 34 De Boel paep Mtty-De G aef Rk 4 40 0 20 -990 WBN= 9 11 50 WH 1 12 8 -100 Z3S-2 6 14 -150 WLN+2
5 Dockx Kris-Dockx Marcel 35 Bottel doorn WIliam Jansegers Al fons 5 32 11 9 -460 CBN+2 9 11 50 WIN-1 | 10 10 -110 WBK= 17 3 100 BR-1
6 Borms Chislene-De Snedt Danny 36 Van Meerbeek Fr ans'-Huyghe Jan 6 39 11 9 -460 VBN#2 | 16 4 110 N2S= 2 18 -600 VBN= 4 16 -200 725 2
7 van Den Broeck Lea Joos Hans 37 Manpaey Harry-Viem nckx Jenny 7 36 | 18 2 -430 GBN+1 | 1 19 -100 N2S-1 | 6 14 -150 WN+1 | 12 8 -100 Z2S-1
8 Raes Karel -Van Lint Frans 38 m eke de keersmaecker-julien de pauw 8 28 416 -490 GBN+3 | 20 0 150 043 | 19 1 200 @S 2 1 19 -600 BN
9 Meeus Rosa- HELLEMANS PAUL 39 VAN DEN BRCECK M EKE- Moens Jan
10 Van Den Bossche Al oys- Peeters Benny 40 De Meyer Ceorges-Vandenberghe Marc 9 34 20 0 50 VBN-1 4 16 -90 WLN= 8 12 -130 V@K+2 | 17 3 100 GBR1
11 Lefever Roger-Snits Eddy 41 Van Laer Lisette-Van Trier Frans 10 37 2 18 -920 O6K= 911 50 WN-1 | 19 1 200 GBN-2 9 11 -120 VN=
11 33 11 9 -460 GBN+2 | 16 4 110 N2S= 2 18 -600 BN= 9 11 -120 WN=
Nz oWV |gift 5 NZ oW gift 6 N2 OV gift 7 N2 OW gift 8 N2 OW NZ oW |gift 9 Nz oW gift 10 Nz oW gift 11 N2 oW gift 12 N2 oW
1 37 15 5 -150 WIN+2 | 12 8 120 NIN+1 | 15 5 -120 O2N= 8 12 -140 BH= 1 41 8 12 -50 N3N-1 4 16 150 Z2N+1 | 11 9 -120 VN= 5 15 -420 WH=
2 32 15 5 -150 WIN+2 | 19 1 150 NIN+2 | 15 5 -120 V2N= 8 12 -140 WBH= 2 31 18 2 120 Z2N= 14 6 620 NAS= 11 9 -120 OLN+1 5 15 -420 WH=
3 34 5 15 -180 WIN+3 | 12 8 120 NIN+1 0 20 -660 WBN+2 8 12 -140 WBH= 3 33 2 18 -140 O2H+1 0 20 -100 Z3N-1 2 18 -180 OLN+3 5 15 -420 WH=
4 38 19 1 -120 WAN+1 4 16 90 NIN= 3 17 -630 WBN+1 0 20 -420 WH= 4 35 0 20 -150 O2N+1 | 18 2 660 Z3N+2 0 20 -400 WBN= 5 15 -420 WH=
5 41 11 9 -170 WH+2 | 12 8 120 NIN+1 | 12 8 -140 BH= 18 2 50 WBH-1 5 39 14 6 100 O2H1 9 11 600 Z3N= 14 6 -110 Q2H= 13 7 -170 WH+2
6 33 19 1 -120 WAIN+1 | 12 8 120 NIN+1 | 19 1 200 OBN-2 | 18 2 50 WBH-1 6 32 8 12 -50 Z2N-1 2 18 130 N2R+2 | 20 O 100 @BN-2 | 19 1 50 WH-1
7 40 5 15 -180 WLN+3 4 16 90 NIN= 3 17 -630 WBN+1 | 18 2 50 WH-1 7 38 20 0O 180 N2N+2 | 16 4 630 Z3N+1 | 18 2 50 2N-1 | 13 7 -170 WH+2
8 36 5 15 -180 WAIN+3 | 19 1 150 NIN+2 | 19 1 200 WBN-2 2 18 -170 GB3H+1 8 34 16 4 110 N1H+1 9 11 600 Z5R- 6 14 -150 OLN+2 5 15 -420 WH=
9 39 11 9 -170 WBH+1 0 20 -100 N3N-2 9 11 -600 WBN= 14 6 -100 N2S-2 9 37 4 16 -110 O2H= 9 11 600 Z3N= 6 14 -150 O2N+1 5 15 -420 4H=
10 35 5 15 -180 WIN+3 | 12 8 120 NIN+1 9 11 -600 BN= 8 12 -140 WH+1 10 40 8 12 -50 Z3S-1 9 11 600 Z3N= 6 14 -150 WIN+2 | 16 4 -140 WH+1
11 31 0 20 -430 WBN+1 4 16 90 NIN= 6 14 -620 WMS= 8 12 -140 WBH= 11 36 12 8 90 Z2K= 20 0 690 NBN+3 | 16 4 0 PAS 19 1 50 WIN-1
Nz oW |gift 13 Nz oW gift 14 Nz oW gift 15 N2 OwW gift 16 NZ OW Nz oW |gift 17 Nz oW gift 18 Nz OW gift 19 N2 oW gift 20 Nz oW
1 39 0 20 -300 M4S-3 4 16 -170 B3S+1 | 15 5 600 Z3N= 7 13 -100 Z2H- 2 1 34 13 7 440 N5R+2 8 12 170 Z3S+1 8 12 -50 N2R-1 5 15 -620 OBR+1
2 37 18 2 110 NI1S+1 2 18 -180 O2N+2 | 19 1 630 Z3N+1 2 18 -150 N4S-3 2 40 17 3 940 N6R+1 | 20 O 680 7Z4S+2 | 16 4 140 N3H= 5 15 -620 OBR+1
3 38 14 6 100 WH 1 8 12 50 O6K-1 8 12 150 Z2N+1 | 19 1 100 WIN-1 3 31 2 18 170 Z3R+3 3 17 -100 Z3N-1 | 19 1 200 O4K-2 0 20 -1370 O6R=
4 34 18 2 110 Z2S= 6 14 -120 2N= 8 12 150 Z2N+1 0 20 -200 Z2N-4 4 39 0 20 150 Z3R+2 3 17 -100 z4S-1 2 18 -150 N3N-3 5 15 -620 OBR+1
5 36 6 14 -100 Z2S-1 0 20 -400 BN= 4 16 -100 Z3N-1 7 13 -100 Z2H- 2 5 35 13 7 440 Z5R+2 | 16 4 630 Z3N+1 | 14 6 100 O2K-1 | 18 2 200 G6R'-1
6 40 6 14 -100 N2S-1 | 14 6 170 N2H+2 | 12 8 180 Z2N+2 4 16 -130 BK+1 6 38 4 16 400 NsSR= 3 17 -100 z4S-1 8 12 -50 N3H1 | 20 0O 850 NsH! =
7 33 2 18 -200 Z2N-2 | 14 6 170 N2H+2 8 12 150 Z2N+1 | 13 7 -50 Z2H-1 7 41 7 13 420 N5SR+1 3 17 -100 z4S-1 8 12 -50 N3S-1 | 12 8 -600 WBR=
8 32 6 14 -100 Z2N-1 | 14 6 170 N2H+2 1 19 -200 Z5K-2 | 10 10 -90 WR= 8 37 17 3 940 N6R+1 | 13 7 620 Z4S= 0 20 -200 N3N-4 | 12 8 -600 G3N=
9 35 10 10 -90 OILN= 18 2 200 N3H+2 119 -200 z5K-2 | 19 1 100 BK-1 9 33 7 13 420 Z5R+1 | 10 10 600 Z3N= 19 1 200 BKI-1] 5 15 -620 WBR+1
10 31 18 2 110 N2S= 20 0 630 N3H +1] 19 1 630 Z3N+1 | 13 7 -50 Z2H-1 10 36 20 0 1020 N6N+1 | 18 2 660 Z3N+2 8 12 -50 N3H1 | 16 4 -100 NsH-1
11 41 12 8 90 ZIN= 10 10 140 z2H+1 | 15 5 600 Z3N= 16 4 80 Z1H= 11 32 10 10 430 Z3N+1 | 13 7 620 Z4S= 8 12 -50 N3H1 | 12 8 -600 OBR=
NZ OWN |gift 21 NZ OW gift 22 Nz ow gift 23 Nz oW gift 24 Nz oW NZ OWN |gift 25 NZ OW gift 26 NZ OW gift 27 Nz OW gift 28 Nz oW
1 33 4 16 -460 GBN+2 | 20 0 420 N4S= 13 7 -660 G3N+2 | 10 10 -50 N3R-1 1 40 10 10 -110 O2R+1 0 20 -300 z4H-3 2 18 -140 BS= 0 20 -990 OG6N=
2 38 19 1 50 WiH-1 | 13 7 140 Z3S= 13 7 -660 WBN+2 | 20 0 120 NIN+1 2 34 2 18 -130 2R+2 | 14 6 140 Z3H= 13 7 50 A4S-1 | 17 3 50 WR-1
3 41 15 5 -400 BN= 13 7 140 N3S= 5 15 -690 OBN+3 3 17 -140 WBH= 3 39 18 2 100 OBR-1 | 14 6 140 N3H= 13 7 50 AS-1 6 14 -490 O3N+3
4 32 11 9 -430 OBN+1 8 12 110 Z2S= 18 2 -600 WBN= 13 7 50 WH-1 4 31 2 18 -130 WBR+1 | 14 6 140 Z3H= 13 7 50 G3N-1 | 20 O 100 O/R-2
5 40 4 16 -460 OBN+2 515 -50 dS-1 5 15 -690 WBN+3 | 13 7 50 WBH-1 5 38 10 10 -110 BR= 6 14 -100 Z3H1 | 13 7 50 @3S-1 | 17 3 50 O6N-1
6 36 19 1 50 GB3N-1 1 19 -100 NAS-2 | 13 7 -660 VBN+2 3 17 -140 WBH= 6 41 10 10 -110 WR+2 | 20 0 620 zZ4H= 0 20 -420 WiH= 10 10 -460 OBN+2
7 39 4 16 -460 OBN+2 1 19 -100 N4S-2 5 15 -690 OBN+3 8 12 -110 WH= 7 37 18 2 100 WBN-1 2 18 -200 z4H-2 | 13 7 50 AS-1 2 18 -520 BN+4
8 35 4 16 -460 OBN+2 515 -50 dS-1 0 20 -1440 O6N= 3 17 -140 WBH= 8 33 2 18 -130 WLR+3 6 14 -100 z4H1 | 13 7 50 @3S-1 6 14 -490 O3N+3
9 31 11 9 -430 GBN+1 | 18 2 170 N3S+1 5 15 -690 O4N+2 3 17 -140 O2H+1 9 36 10 10 -110 O2R+1 | 14 6 140 Z3H= 4 16 -120 O2N= 13 7 -420 WAH=
10 34 15 5 -400 BN= 13 7 140 N2S+1 | 20 O 100 O6N-1 | 17 3 100 O4H-2 10 32 10 10 -110 WBR= 14 6 140 Z3H= 6 14 -110 O1S+1 | 13 7 -420 O6R+1
11 37 4 16 -460 GBN+2 | 13 7 140 N3S= 13 7 -660 WBN+2 | 17 3 100 WH-2 11 35 18 2 100 WBN-1 6 14 -100 Zz4H1 | 20 O 100 ™4S-2 6 14 -490 O3N+3




